
BBA/M-20 10505
Business Mathematics-II

Paper - BBA-112

Time allowed : 3 Hours                      Maximum Marks : 80

Note : Attempt five questions in all Question No. 8 is 

compulsory. 

lHkh esa ikap ç'uksa dk ç;kl djsa A ç'u la- 8 vfuok;Z gS A 

1. (i) Show that the points (1, –2). (3, 0), (1, 2) and 

(–1, 0) are vertices of a square. 8

(ii) If A(2, –2), B(1, 1), C(–1, 0) be the vertices of a 

DABC and AD^BC, find the equation of  

altitude. 8

A(2, –2), B(1, 1), C(–1, 0) DABC

AD^BC

2. (i) If pth term of an A. P be q and the qth term be p; 

find the (p + q)th term. 8

pth

fn•k,¡ fd fcanq (1] &2)A (3] 0)] (1] 2) vkSj   

(&1] 0) ,d oxZ ds dksus gSa A

;fn A  ,d  vkSj 

 ds dksus gksa] ÅpkbZ ds lehdj.k dk irk djsa A

;fn ,d A, P dk  in q gks vkSj qth in p gks_      

(p + q)th in dks fudkysa A
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(ii) Sum the series  8

7+7.7+7.77+7.777+.... to n terms

3. (i) Evaluate 8

(ii) If A and G be respectively the A.M. and G.M. 

between two positive numbers then prove that    

A > G. 8

4. (i) Evaluate 8

(ii) Evaluate 8

J`a•yk dk ;ksx

7 $ 7-7 $ 7-77 $ 7-777 $ ---- ls n in rd A

ewY;kadu dhft,

;fn , vkSj th Øe'k% ,-,e- vkSj th-,e- nks ldkjkRed 

la[;kvksa ds chp gks rks lkfcr djks fd , > th A

ewY;kadu dhft,

ewY;kadu dhft,
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1
–––––

x
e  + 1

dx

x² 
x³ e dx

1
–––––––––
Öx² – 4x + 2

dx



5. (i) Evaluate 8

(ii) If the marginal  cost function is given by

                       where p, q are constants and the

fixed cost of production is zero. Find the total 

cost functions.  8

6. (i) If a² + b² = 7ab, show that 8

2 log (a + b) = 2 log 3 + log a + log b

a² + b² = 7ab

2 log (a + b) = 2 log 3 + log a + log b

(ii) Evaluate 8

ewY;kadu dhft,

;fn lhekar ykxr iQaD'ku 

                     gS tgk¡ p] q fLFkjkad rks gSa vkSj

mRiknu dh fuf'pr ykxr 'kwU; gS A rks dqy dksLV 

iQaD'ku fudkys A

;fn ] fl¼ djks

ewY;kadu dhft,

x²
––––––
Ö4x – 1

dx

2

1
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p
–––––
px + q

MC =

p
–––––
px + q

MC =

(45.4)²
–––––––––––
(3.2)² × (6.5)³

3Ö



7. (i) S.I. on a certain sum of money for 1½ years is Rs. 

150 and C.I. is Rs. 153.33. Find the rate. 8

1½

(ii) Find the effective rate on interest of 10% p.a. 

payable half yearly. 8

Compulsory Question (vfuok;Z iz'u)

8. (i) Solve for x;  x 

(ii) Evaluate

(iii) Find K for which the points (K, –1), (2, 1) and    

(4, 5) are collinear. 3

(K, –1), (2, 1) (4, 5)

(iv) Find the sum of 17 terms of the series 3

5 + 9 + 13 + 17 + ............

(v) Evaluate

(vi) Define G.P.  

 o"kZ ds fy, fuf'pr jkf'k ij ,l-vkbZ- 150 vkSj  

lh-vkbZ- #- 153-33 gS A nj Kkr dhft, A

10» izfr o"kZ dh C;kt nj ij çHkkoh nj Kkr djsa A C;kt 

Nekgh vkSj gS A

ds fy, gy djsa% 3

ewY;kadu dhft, 3

K Kkr djsa] ftlds fy, fcanq  vkSj  

lejsf[kr gSa A

J`a•yk ds 17 inksa dk ;ksx Kkr dhft,

ewY;kadu dhft, 3

th-ih dks ifjHkkf"kr djsa 1

4
––
3

x, log x =27

log x dx

(x +   )dx
1
–
x
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